BELIT I WREASHE HEE)

TEL 055 (241) 0557

(EE30FEE
BN\ZEFREE
25 D72 BB =] iG]
e =B B 540 - 7:00
ha - RELES == &  540-600
vt Bz W 450 - 550
BuUPES = X 4:40 - 6:00
ns BR K 500 - 550
P = 2K 550 - 640
) =E0 + 2:40 - 400
E5F8 T 4.00 - 520
vt = W 440 - 600
AUPES H:E X 450 - 550
"G #HE K 500 - 550
pag BR 7K 550 - 640
Rl H:E T 2:40 - 400
S5 T+ 400 - 520
IR (ER~IN6) 1= Eg iSRS
o ez W 6.05 - 655
Ea SM/RTrae 5B X 605 - 655
BHH3d< A
XURSEF =] LI
PN 6:00 - 7:00
IN ~ING X 450 - 6:50
T 3:00 - 500
BEREELSZ TT.O.P (v |
NI REAEF iE8 RS
N ~53 B~ 5:00 - 10:00

| BERTENS1030F CIHERIEERE (FR) B> CET, |

XEHEIIBEICLIDEEBICRDCENDDET., BHNEDEDER. CHERIZE),

W24 ISREE 0308

PE 934 (=] =] ISR
HEE W e K 700 - 755
ST HE W e K 800 - 855
(D B W 900 - 955
E58 N 9:00 - 955
anly . A B 7K 700 - 755
i R K 800 - 855

— ——
B i e
s T 845 -10110
S W 700 - 755
ST EiE 7N 700 - 755
;) ZEE W e R 800 - 855
2 W e K 9:00 - 955
$h2 N2TON LTS X 800 - 855
ZR/H= tR K 900 - 955
A HE T 540 - 705
) HEE T 715 -840
ESRS I 845 -10:10
e W e K 700 - 755
ST BE D\ 800 - 855
(WD B 7N 800 - 855
3B PR 9:00 - 955
$H3 N ~ = 7K 700 - 755
BMAIR 1Ry K 900 - 955
A HEE T 540 - 705
(¢§E) Eg I 71 5 - 840
g T 845 -1010
ESREBEE

S 99 NE Eg i
RS — REEE v 7:30 - 855
= = AV — R & 900 - 10:25
&1 PREE  IiaEE = 7330 - 855
N1 UAN)UBEEE ra 9.00 - 10:25
HEE B 7:30 - 855
=2 BEEe NEHE A 900 - 1025
BRYF A 9:00 - 10:25
= ~ o == =] 7:30 - 855
"3 Z>y 55 85  900-1025

CER30F4B~ERI1EI[/R)




